
SAP ABAP table VTVDETA_DE_CONVERT {OTC Interest Derivatives: Cumulative Values}

VTVDETA_DE_CONVERT

PARTNR [CHAR (10)]

SBEWART [CHAR (4)]

RPZAHL [CHAR (10)]

RAHABKI [CHAR (5)]

RAHKTID [CHAR (5)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

PRKEY [CHAR (10)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VTVDETA_DE_CONVERT-PARTNR = BUT000-PARTNER 

0..N

0..N

 VTVDETA_DE_CONVERT-RPZAHL = BUT000-PARTNER 0..N

0..N

PAYRQ

MANDT [CLNT (3)]

KEYNO [CHAR (10)]
 VTVDETA_DE_CONVERT-PRKEY = PAYRQ-KEYNO 

0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VTVDETA_DE_CONVERT-LAND1 = T005-LAND1 
0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 VTVDETA_DE_CONVERT-RAHABKI = T012-HBKID 

0..N

0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 VTVDETA_DE_CONVERT-RAHKTID = T012K-HKTID 

0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 VTVDETA_DE_CONVERT-ZLSCH = T042Z-ZLSCH 

0..N

0..N

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 VTVDETA_DE_CONVERT-SBEWART = TZB0A-SBEWART 

0..N

0..N


